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Afla3,, s ZJL.M'E cHd 20234 33 282 3ty
EXAARS 7Y AR BEA 24
ol | EXAA| Xt x| B 1) IR x| Tkl
A 909,724 826,637
1 ks 2 1 =i 216 216 AA=RIK|A
2 s 2Aa| 1-1 e 54 54 HA=X[X|
3 skes ZEE| 1-2 =2 954 954 AAR=R|X|d
4 skrg 28R 2 = 330 330 AYAR=R K| 04
5 Lol = A Sl 2-1 et 621 621 AAR=X|X|0F
6 skeS 232 2-2 = 1,760 1,760 ABAK=X K|
7 skeg 28R 2-3 T 3540 3,540 AUAR=X|R |4
8 s 25| 2.5 = 299 299 AA=X|R]
9 sl=g &R 3 =1 1,874 1,874 HM=XIRIS
10 | s 287 3-1 = 2,000 2,000 AA=R|X|A
1| sire 2R 3-2 7 2200 2,200 AYAR=R R[]
? | ses e 3-3 et 436 43 BU=RIRA
13 | 3keg 2xE 4 =1 1,757 1,757 YM=XIRIA
U sgEg IRl | 4| o 14 “ SESTE
5 | s 28e| 4-2 = 740 740 =R
16 | skes e 4-3 et 1,680 1,680 AL=KIR|
17 | skg zZ5: 4-4 =1 393 393 AA=X[X|A
18 | ks 2R 52 g} 508 508 A=K
19 | skes zimE| 5-4 Gl 5 5 P A N B
2 | ks e 55 5 41 41 AL=KIR|
21 | 3s 2me| 5-6 = 310 310 HM=KIR|S
) skes 2 7-5 S 106 106 AA=RR|A
B | sks 7mg 9-1 5 183 183 AMER|R|A
24 | 3irS 2ER| 9-6 Elral 63 63 YM=XIRIA
% | ss Zixg| 17-5 Gl 184 184 HA=RIK]
% | skee zimp 17-7 Sl K3 3% HA=RIX]
7 | s zme 18-4 Sl 164 164 AYAE=R|R |
B | ss zixE| 18-5 e ) 42 YM=XRS
20 | skrs 7mg 19 =1 1,846 1,846 AA=RIX|A
0 | ks zime 19-1 =1 1,820 1,820 AA=RIR]A
31 | seezmel | w2 | © 650 60 SIS




20234 3¢ 282 3129 ZMatu e $o30 T 5T
o EX|AAHA| x| X= SFHR(md) QIR () BEX|A Clini
R | s 2| 19-3 = 384 384 HM=KIR|S
B | s 2ER 20 % 280 280 AA=R| XA
U | skes zime 27 = 1,655 1,655 HM=KIX|S
3B | skes zima 27-1 = 1,721 1,727 AA=X[X|A
3% | skes zimg 27-2 = 2,291 2,291 AA=RIR|A
7| kS 2R 271-3 == 1,170 1,170 Y=
B | skes zmg 21-4 1 5,250 5,250 AA=R|X|A
29 skes 2 27-5 = 2,130 2,130 AA=X[X|A
0 | skes zime 27-6 = 2,274 2,274 AM=R|R|A
M| ses 2mE| | 277 £t 316 316 AR (K|
R | ke zxE| 218 | ®uEX| 839 839 AL=KIR|
B | s 2K 27-9 ESInE=oN| 1,504 1,504 HM=KIR|S
M| skes zima 27-10 = 1,614 1,614 Y==K
65| skg el | -1 | ®DEK 600 600 AL=AIR|
%6 | sz 2 27-12 == Q0 40 SM=XIRIA
47 | ks zime 27-13 =1 151 151 HA=RIX|A
B8 | skrs zma 27-14 = 895 895 AA=R|X|A
09 | s zixE 27-15 =1 375 375 HA=RIR
50 ks 2 27-16 = 391 391 AA=X[X|A
51 s 2Aa| 27-17 ct 23 23 MA=X|R]
52 sl ZER| 27-18 = 29 29 AUAME=XR|
53 ss 2| 27-19 = 69 69 MA=X|X|S
54 skes 25 27-20 = 9% 9% A=K
55 | skes zimg 27-21 = 14 14 AA=R|R|A
56 | skegzme| | 2 | ADEX 4 4 SRR
57 | s el | o3 | 2Dex 56 2 USRI
58 | skrs zixg 27-24 =1 % 2 HA=RIX]
5 | skrs zimg 27-25 = % 2 AA=R|X|A
60 | 3keS 2| 3 = 2,530 2,530 HA=RIX
61 saS 2Aa| kY1 % 600 600 AM=R|R|A
62 | skeS 2R 3% = 3,780 3,780 HM=KIR|S
63 | skeS 2Ee| 35-1 = 757 757 Y=
64 | skes zimp 35-2 = 1,584 1,584 =R




R Z gfLt & 20234 32 282 31

EXAAHA] XA X= FFHE(m) HRIMHA(mr) BEX|A =l
skrg 28R 36 = 1,450 1,450 AUA=R|R|A
sieg 2438 36-1 = 1,170 1,170 AA=R| XA
skr2 232 36-2 =1 2,115 2115 AHAR=R|X|4
kol = A el 36-3 = 2,200 2,200 AUAR=X|R |3
skr2 23R 3 = 585 585 AUAR=R |0
kg 252 37-1 = 915 915 AUAR=X|x|0d
kS 232 37-2 = 928 98 AAR=RX|X|0F
skeg 28 37-3 =1 1,322 1,322 AUAR=R K|
Skeg 2| K] S 1,520 1,520 UNINE= NoN [z
ol = A el 39 = 2410 2,410 AAR=R|X|OF
Skeg 27| 391 = 1,810 1,810 AUAK=R (K|
skeS Za| 39-2 = 1,190 1,190 AA=RR|A
skeE 23k 30-3 = 3,000 3,000 AAR=R|X |0
skeg 28 39-4 = 350 30 AUAR=R|R |
kol = A el 39-5 = 2,650 2,650 AAR=X|X |0
Skeg 2EE| 9-6 = 1,420 1,420 AYAR=X RO
Skeg 25| 9-7 = 1,240 1,240 AAK=R (K|
sk 2EE| 40 A 3278 3278 AYAR=X |03
3= ZNE| 4 =1 1,240 1,240 MA=X|X|
sk 25 111 = 1,20 1,220 AYM=X|R|A
kol = A el 4-2 = 540 540 AUAM=R|X [0
skeg 2EE| 41-3 = 3,000 3,000 AUAR=R RO
skeg 2EE| 4-4 = 2,940 2,940 AYAR=X ||
Lo = A Sl 2 E=2 430 430 AUM=R|R [0
ol = A el 43 = 2,606 2,606 AUAK=R X |3
Skeg 2| 43-1 = 1,710 1,710 UNINE= NoN [
skeg 2EE| 43-2 = 1,20 1,20 AAR=R RO
ko = A el 4 B 1,660 1,660 AA=R|X|A
skrg 28R 44-1 = 890 890 AYAR=X X |04
skrE 23R 4-2 = 750 750 ABAM=R |0
Skeg 2| 4-3 = 2,250 2,250 AUAR=X RO
ol = A el 45 = 1,080 1,080 AAR=R|X|OF
kS ZAa| 45-1 = 1,840 1,840 AA=RR|A




20234 3% 282 3}22l Maty € e

Ot =S NI X X= SHHE(mr) HRIMHA(mr) BEXA

%8 | sks 2 45-2 =i 850 850 HA=RIX]
0 | kg 2 45-3 = 2,380 2,380 YA=X|R]S
100 | zles zAE| 45-4 = 1,300 1,300 AMERIR|A
101 ke 2| 45-5 = 1,530 1,530 AM=X|R|A
102 | kg 2EE| 46 == 470 470 HM=KIR|S
108 | ks 23R 4 = 2,530 2,530 YA=XRS
104 | s ZmE 47-3 = 860 860 =R
106 | skes zme 47-4 = 2,140 2,140 AA=RIX|
106 | s 25 .3 = 1,070 1,070 AA=X|R|
107 | skes zxe 48-1 = 1,110 1,110 AA=X|R|
108 | skeg 25e 48-2 =1 3,330 3330 AR
100 | skes 25E| £ =1 3,600 3,600 HU=XR|A
10 | skeg 2xe 49-1 =1 1,280 1,280 SU=XIRA
114 skes 25 49-2 = 660 660 AM=X|R|A
112 | s zxE 49-3 =1 1,080 1,080 AA=X|X|A
13 | ses 25e) £9-4 = 1,100 1,100 AA=X|R|
114 | s 2ma 49-5 =1 1,290 1,290 AA=X|X|A
15 | skes 25E] 50 = 70 710 HR=XR]S
116 | 3= 2% 50-1 = 1,025 1,025 AA=X[X|A
1| sk 25 50-2 = 1,235 1,285 HU=XRS
18 | ke 2&e| 50-3 = 1820 1820 =KX
19 | kg ZHe 50-4 = 905 995 E=AIR
W | seE e | 05 =] 810 810 AR
21 | ses 25 50-6 = 1,035 1,03 AA=X|R]
12 skeg 23| 50-7 = 1,455 1,455 AM=X|R|A
123 | sks 28 50-8 = 970 970 MAEX|X|S
124 | ses 25 51 7 200 200 HA=XR]S
125 | ks 2| 93-4 1 119 119 AYAR=X K|
126 | a2 2 9%6-2 sS4 2% % SU=ARIA
127 | ses 25R 97-2 s 165 165 AA=X|R|
128 | 33 ZEE| 99-2 =2 208 208 AA=RIK|A
129 | 3ks 2| 100-2 1 387 387 AYAR=X K|
130 | 3kes ZEE| 100-3 = 704 704 MA=XX|S




Ala3 Ar A gLt = 20234 33 282 512
o4 EX|ARYA] XA x= FPEA(n) R () XA i
131 | skee ZER| 101-1 olot 1,881 1,881 HM=KIR|S
12 | slrs zHE| 101-2 olo} 1,957 1,957 AA=R| XA
18 | zlrs zAE| 101-3 olo} 1,552 1,552 AA=RIX|
134 | s zimE| 101-4 olof 551 551 AAR=RIR|A
135 s 2ER| 101-9 A 797 797 AA=RIR|
196 | sk zimz| | 101-10 7 5 5 S=RIxI
137 | slrs zE| 101-11 1 226 226 AA=R|X|A
18 | segzmel | 014 | 5= 3,162 3,162 AAR=R|R]]
139 | s zme| | 10118 | == 181 181 AR R|
14 | ks z2xe| 104 == 28,971 28,971 =R
| skes e 170-2 = 2,014 2014 AUAR=R X[
142 | s 248 170-3 £= 192 192 MA=X|X|
13 | skes ZEE| 171-1 £= 807 807 AA=R| XA
W | sks zme 171-4 1 398 398 AA=X|X]
15 | seg Z28e| 177 =2 16,867 16,867 AUAK=X|X |0
6 | segTEe | 172 = 63 68 USRI
ur | skeg 2Ee 177-3 = 383 383 AL=KIR|
18 | sk zme 177-4 = 480 480 HA=RIR
19 | kg e 180 = 93 93 AL=AIR|
150 | s zAE| 180-1 =1 952 952 AA=RIK|A
151 | sl zimE| 180-4 = 667 667 AA=R ||
152 | sks 28z 180-5 = 2,071 2,071 =R
153 | sz | 1807 =2 4231 4231 AR x|
154 | B 2E| 181 = 518 518 =R
155 | skes zme 181-1 = 2,031 2,031 AM=X|R|A
156 | slees 2A&E| 181-2 = 1,187 1,187 AMER|R|A
157 | sles zA&E| 181-3 =1 3,000 3,000 HA=RIX]
158 | slre zimE| 181-4 = 1,420 1,420 AA=R|X|A
159 | sk ZixE| 181-5 = 1,735 1,735 AUA=RR|A
160 | s zAE| 181-6 = 2,055 2,05 AM=R|R|A
161 | zles 2AE| 181-7 = 1,800 1,800 AM=R|R|A
1R | skes zxe| 185-5 =1 7 71 =R
163 e 2| 185-6 = 100 100 MA=XX|S




20234 3% 282 3}22l Maty € e

Ot =S NI X X= () () BEX[A

161 | 3RS ZixE 185-7 = 220 220 AUA=R|R|A
165 | e 2E| 185-8 = 421 421 AA=R| XA
16 | g zime| | 1811 ==} 9,136 9,13 AYN=R|R|]
167 | skrs zimg| 168 == 137 137 AAR=RIR|A
168 | skeg zmel | 1881 =] 313 313 AYAR=R x|
109 | s&es 25E| 189-1 =2 245 245 AUM=R|X [0
170 | skes 2xe| 189-2 7 900 90 =R
M| segYME | W | == 4000 362 ST
172 | kg 2&E 195-3 c=2 701 701 AA=RIK|A
7™ | ses 2| 196-1 = 126 126 AA=R R[]
174 | sk e 196-2 = 182 182 AYAR=X|X[od
75 | ses s | 1063 e 732 7 AYN=R|R|]
176 | skes2mE | 1964 = 7% 7% U=RIRA
177 | skes zme 196-5 = 782 782 AM=X|R|A
178 | sks zma 196-6 = 648 648 =R
179 | sk&s 28 196-7 = 815 815 MAEX|X|
W | seszmp | 168 = 2 712 APM=R|R|
# | zee zmE | 1960 = 73 713 AR o
18 | sk zE| 196-10 = 740 740 AAR=RIX|A
18 | sl zAE| 196-11 =1 1,298 1,298 AA=RIK|A
184 skes 28E| 196-12 =) 6,306 6,306 AM=X|R|A
% | seszmEl | e | H 28 283 GeF=Aix
186 | 3= zixe| 197 = 3,000 3,000 MA=X|X|S
187 skes 25E| 197-1 =1 610 610 AM=XIR|
188 | skS ZxE 197-2 =1 1,020 1,020 AAR=R|X|
180 | Skeg 2EE| 197-3 = 1,370 1,370 AUAI=X|R |0
10 | sles 2| 197-4 =1 1,530 1,530 HA=RIX]
191 S5 2Z%E| 197-5 =1 1,000 1,000 AM=X|R|A
1@ | sk zme| | 1976 =) 3,000 3,000 SLSAIRIA
18 | sl zAE| 197-7 = 1,200 1,200 AM=R|R|A
104 | slrs zAE| 197-8 = 1,840 1,840 AM=R|R|A
15 | sk zixm| 108 2 2,8%0 2,830 AYA=R|X o]
16 | ss zZiEe] 199 =1 1,875 1,875 HA=RIX]




Aoy Ay ZJ E_|- Lt (=] 20234 3% 282 5|2l
i EX|ARHA| x| x= FFHA(md) PR () BEX| HT
197 | S22 28 199-2 = 470 470 MA=X|X|S
18 | sk= 252 199-3 = 540 540 AA=R| XA
19 | ske= 25e| 199-4 = 2,510 2510 AAR=R|R]A
20 | 33 2N 199-5 =i 1,840 1,840 AA =KX
01 | skesS 2&E| 199-6 = 1,760 1,760 AR
2 | sz e 200 = 3,000 3,000 MMN=X|K|A
203 | sk=S 2| 200-1 = 1,580 1,580 AA=R|X|A
204 | skrS 2 200-2 = 1,420 1,420 AM=X|R|A
205 | skeS 2| 201 === 480 480 AM=R|R|A
206 | 3keS ZEE| 203 =1 1,584 1,584 AM=X|R|A
07 | sz e 203-1 = 1,920 1,920 MMN=X|K|A
08 | 3keS ZiAE 203-2 =1 1,080 1,080 AAR=XX|
09 | sz e 203-3 = 1,010 1,010 MM=XK|A
210 | 3keS ZEe| 203-4 = 1,990 1,990 AA =KX
211 | 3keS 25| 203-5 = 1,790 1,790 AMN=X|R|A
212 | 3kS AR 203-6 = 1,210 1,210 AUAR=R|R|A
213 | 3keS 2&ae| 203-7 = 2,670 2670 AM=XR|A
214 | 3eg ZEE| 203-8 = 976 976 AIAR=R|K|A
215 | sR= 2 204 7 1,905 1,905 AA=R|XK]A
216 | IS AR 205 c=2 2570 2,510 AAR=XX|
27 | ks 2EE| 206 = 3,470 3,470 AM=X|R|A
218 | 3leS 2&e| 206-3 = 3,000 3,000 AA=R|R]A
219 | 3kS ZEe 206-4 = 2,150 2,150 ABAR=R|R|A
20 | 3keS 2Me)| 206-5 = 850 850 AA=R|R|A
21 | ks 25| 207 = 2,540 2,540 AA =KX
22 | skeS 2EE| 2071 = 650 650 AARER|R]A
23 | skeS 2EE| 207-2 = 2,340 2,340 AA=R|R]A
24 | skeS 28e| 207-3 = 840 840 AA=R|X|A
225 | skeS 2| 207-4 = 730 730 AUAR=R|X]A
26 | 3s 2xe 207-5 =t 1,450 1,450 AAR=XX|
21 | ks 2| 207-6 = 1,140 1,140 AAR=XX|
28 | kg 2| 207-7 = 1,860 1,860 AMN=X|R|A
29 | kg 2N 207-8 = 2610 2,610 ABAR=R|R|A




20234 3% 282 3}22l Maty € e

o] EX[ARHR| x| X|= SFHE(m) s Gy 8=AA

230 e ZE| 208 = 1,160 1,160 AR
N1 | S 2&m| 208-1 = 1,840 1,840 AM=XR|A
2 | s 2AE| 208-2 = 1,650 1,650 AAR=R|R]A
2 | srS ZAE| 208-3 =1 1,350 1,350 AAR=RIR|A
B4 | S AR 208-4 = 2,890 2,890 MAEX|X|
25 | sk 2R 258-1 == 19 19 YA=XRS
26 | skegzm | H1 | T 67 o7 ST
27 | 3RS Zie 261-5 A 30 30 AA=X[X|A
28 | 3RS 2R 261-6 7 30 0 AM=R|R|A
29 | skes 2R 266-1 £=2 32 130 AA=R|X|A
200 | 3eS AR 267-2 = 196 19 =R
1 | seS ZixE 274 =2 18 18 HA=RIX]
o | ses 2 275 S 129 129 AR K|
o3 | seo AmE | 1B = 28 258 AYAR=R R[]
244 | SRS Ak 103-7 £=2 3,872 3872 AA=R ||
U5 | BS AEE| 103-9 =2 6,290 6,290 AA=RIR|A
A6 | kS AR 108 = 660 660 AA=R|X|A
A7 | S A 109 =1 1,035 1,035 HA=RIR
a8 | skeS AR 110 = 2,877 2,877 AA=X[X|A
20 | 3RS AR 111-1 = 2,311 2,31 HM=KIX|S
250 | skeS Az 111-2 £=2 132 132 AA=R ||
21 | skegaEel | M8 | &= 4 0 At
52 | BS AR 112-6 o 239 239 HA=RIK]
%3 | BeS AR 113-1 ] 847 847 =R
254 | BS A 113-3 == 66 66 AM=X|R|A
255 | BkeS A 113-4 =2 7 7 AA=RIK|A
256 | BkeS A 113-8 = 209 209 HA=RIX]
057 S A 114 = 2,109 2,109 AYAR=X K|
258 | 3RS A 114-2 =2 10 10 HA=RIX
259 | BkeS A 114-3 £=2 40 40 AM=R|R|A
260 | BkeS A 114-4 =2 9 9 AA=RIK|A
%1 | skeS AR | 1146 | ETDEX| 500 500 AE=AIR|
% | skeS Al 114-7 = 180 180 AA=RR|A

_‘IO_



Moo S Rl Z g et T e 20234 33 282 3t
o | EXAKYR| g = B HBHA(m) A i}
63 | BS AR 114-8 =1 92 952 HA=RIX]
B | BleS AR 115 = 3,131 3131 AA=R| XA
%5 | skeS AR 116 = 3,266 3,266 HM=KIX|S
%6 | Bk AR 118-1 = 1,462 1,462 AAR=RIR|A
67 | skes A2 118-2 =2 3 3 AA=X|R|
268 | B2 A 119 == 6,199 6,199 AA=R| XA
269 | 3RS Al 120-1 et % % L=KIR|
20 | s ARl | 120-3 g 464 464 AL=XIR|
211 | S Ak 120-4 =] 10 10 AM=R|R|A
2 | BS A 120-9 £=2 3 PA; AA=R|X|A
73 | sles AR 121-1 = 216 216 AA=R|R|A
24 | kg ARl | 1212 = 3 3 USRI
25 | g Az 121-3 £= 1,734 1,734 AA=R| XA
276 | skrs AR 121-6 =2 43 43 AM=X|R|A
7 | S ARE| 234 £=2 1,059 1,059 AA=R ||
o | EReS AR | 2341 =] % % AR (K|
279 | ke AR 235 S| 923 923 AA=R|X|A
80 | 3RS AR 25-1 == 232 232 AA=X|X|
81 | BkS AR 2% = 1,301 1,301 AA=X[X|A
B | sls AR 236-1 = 1,013 1,013 AM=X|R|A
| S A 236-2 = 665 665 AYAK=R|R[]
84 | RS AR 27 =2 431 431 HM=KIR|S
5 | BES AR 738 = 707 707 HA=RIK]
86 | skeS A 238-1 = 1,937 1,987 Y==K
267 | slas AR 238-2 = 3,075 3075 AYME=R|X|
88 | slkS AR 238-3 = 1,551 1,551 AMER|R|A
80 | skeS Al 238-4 = 1,530 1,530 AA=R|R|A
0 | 3kS A 239 = 1,222 1,222 AA=R|X|A
291 | 322 A 239-1 =1 1,859 1,859 HA=RIX
@ | S A 239-2 = 3,081 3,081 AM=R|R|A
293 | SRS AE 239-3 = 3,081 3,081 AUAR=R K[
00 | BlS AR 240 =1 97 97 =R
25 | S AEE| 2401 =) 1,246 1,246 AUAR=R ||




20234 3% 282 3}22l Maty € e

i EX|ARHA| x| x= FFHA(md) PR () RCX|o

2% | 3kES MEiE| 240-2 = 917 917 AR
07 | seg M| 240-3 = 1,098 1,998 MM=XK|A
298 | skeS MR 240-4 = 1,002 1,002 AMERIR|A
20 | 3ks AE| 241 = 1,645 1,645 AA =KX
00 | 3kES AiE| 2411 = 1,364 1,364 AR
01 | S AR -2 = 2949 2,949 MMN=X|K|A
2 | seS M| 241-4 = 542 542 AM=XIR|A
303 | B2 Ak 241-5 = 1,956 1,956 AM=X|R|A
M | skeS AR 242 = 726 726 AR
305 | S AE| 2421 = 1,881 1,881 MM=X|X|Y
306 | B2 A 242-2 = 604 604 AA=R|R|A
07 | 3S AEE 242-3 =1 664 664 ABAR=R|R|A
308 | ks AkRE| 242-4 = 634 634 A= K|
309 | S AE 242-5 = 1,117 1,117 AA =KX
30 | skeS AiE| 242-6 = 1,785 1,785 AA=R ||
311 | 3RS A 242-7 = 1,224 1,224 AUAR=R|R|A
32 | skeS M| 243 =2 404 404 AA=R|X|A
33 | 3keS AiE| 244 = 3,027 3,027 AA=X|R]A
314 | seg AXE 245 A 1,243 1,243 AAR=R|X|A
315 | 3 Ak 245-1 =2 444 444 AARER|R]A
316 | seg AXE 247 = 1,650 1,650 AM=X|R|A
37 | kS Ak 2471 = 2,450 2,450 AA=R|R]A
318 | IS A 247-2 = 970 970 ABAR=R|R|A
319 | 3eg AE| 247-3 =t 650 650 MM=XR|
320 | ks AKE 247-4 = 300 300 AA=R|R]A
R1 | S AR 28 = 1,660 1,660 AUAR=R|R|A
32 | S AE| 2481 = 1,340 1,340 AUAR=R|R|A
33 | g AEE 248-2 = 1,450 1,450 MM=X|K|A
R4 | FeS AR 248-3 = 1,550 1,550 AAR=R|X|A
35 | seg A 248-4 =t 1,550 1,550 AAR=XX|
06 | S AR 248-5 = 1,370 1,370 AAR=XX|
N7 | g MEE 249 = 3,000 3,000 AMN=X|R|A
38 | skeS MEE| 249-1 = 891 891 AA=R|X]A

_12_



"3 g Matd & 20234 32 28 3}
odH EX|AAHR| XA X= FFHE(m) HUHAR () SBR[ =l
39 | =g Ak 249-2 = 202 202 HA=RIX]
30 | E=E 249-4 =2 6,879 6,879 AAR=X|X|d
3B | S AR 253 =2 3574 3,574 AAR=R|R|4
N | sES AEE| 254-1 = 109 109 AUAR=RR |0
3B | S aiEE| 254-2 e I 7 ABAI=X|R |0
B3| SkES AE 254-4 == 234 234 AAR=R|X|OF
3B | S Ak 255-2 A 366 366 AYM=X K |0
3B | =S Ak 255-3 A 1 1 ABAR=R ||
37| S AE 256 A 650 650 AYAM=R K[
3B | SRS Az 256-1 === 175 175 AUAM=R|X |0
39 | SF Az 257 === 775 75 AUA=R X [0
M0 | EE aiEE| 257-1 == 1,004 1,004 AUAR=R ||
M Skeg AEE| 258 = 64 64 AYAR=X RO
M| SRE AR 258-1 == 5,448 5,448 ABAM=R |03
M| E=E k| 259 = 3,000 3,000 AAL=X | X |OF
M| S AR 259-2 = 2,283 2,283 AYAR=R |0
5 | SRF ARz 260 = 1,950 1,950 AUM=R|X |0
6 | BS aiEE| 260-1 = 1,500 1,500 AYAR=X |03
U7 | ES AR 261 = 3,00 3090 AA=X[X|A
M8 | SRS AKE 262 = 670 670 AUAR=R K[
39 | SiE ARz 262-1 = 1,046 1,046 AAR=R|X|OF
B | E=E R 262-2 = 739 739 AYAR=R R[04
B | S AR 262-3 == 6,715 6,715 AYAR=X K| 04
¥ | E=E 263 = a7 447 AAR=X|X|0F
363 | skeg AR 276-1 = 440 440 MAR=X|X|04
B4 | EE R 216-2 71 446 446 AUAK=X R |0
35 | S AEE 216-3 = 10 10 AUAK=X|R |0
36 | SRS Ak 2771 = 226 226 AUM=R|R |0
BT | S A 217-2 7 M6 M6 AUAR=R K|
I8 | S Ak 217-3 = 25 pis ABAM=R |0
309 | EES AE 2781 = 2,839 2,839 AUAR=R K[
360 | Sk Az 278-2 = 457 457 AUAM=R X |0
361 | S A 218-3 7 231 231 AUAR=R|K|0d
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20234 33 282 sy MLt Alo3o T S ALY
ot EXARYK]| XA X= SHHE(mr) HRIMHA(mr) RCX|o linl
32 | B=g e 2718-5 A 430 430 AA=X[X|A
363 | skeg AEE 218-6 = 27 2 HM=XRIA
B4 | BS AR 218-7 = 46 46 ABAM=R K|
35 | seg AEE 279 = 3,266 3,266 AA=XX|A
¥6 | S e 280-1 = 1,316 1,316 AUAR=R |0
367 | Beg Ak 280-2 7 132 132 PUNCS (<t
38 | skeg AxE 280-3 = 1,451 1,451 HM=XRIA
369 | 3eS AEE 281-1 = 1,38 1,398 AA=X[X|A
30 | seg AE 281-2 | 367 357 AA=X[X|A
3N | skeg A 282-1 =1 1,038 1,038 HM=XXIA
2 | s AXE 282-2 7 258 258 HM=XRIA
33 | B AEE 282-4 T 66 66 AA=X[X|A
4| B AEE| 282-5 = 7 7 YA=X|R]S
35 | sg AEE 283-1 =1 3 3 AAR=XX|A
36 | seg AEE| 283-2 A 301 301 HM=XRIA
377 sk A 284-1 = 715 75 AA=RIR|A
318 | skeg AEE 284-2 %A 562 562 MM=X|K|A
M | skeg ARl | 243 2| 9 9 AUEERE
B0 | B AR 285 =1 2,235 2,23 AAR=RIX|A
381 | B2 AE 286 = 3,030 3,030 AM=X|R|A
3B | skeg AEE 287-1 = 624 624 HM=XXIA
38 | B e 287-2 A 466 466 AA=X[X|A
B4 | skeg AR 287-4 = 1,939 1,939 AA=RIX|A
3 | S Ak 287-5 = 2 s AUM=R|R [0
36 | E=E ek 288 = 2,142 2,142 AUAK=R X |3
B7 | skeg AEE 289 = 1,775 1,775 AA=X[X|A
3B | sk AEE 20 =1 3,365 3,365 AA=X[X|A
39 | seg AxE 291 = 2,202 2,202 HM=XRIA
0 | =S R 22 = 2,225 2,225 AYAR=R K| 04
391 | 3es A 293 = 1,38 1,38 AAR=XX|
3R | F=g e 2% =1 1,304 1,304 AA=X[X|A
3B | sEg AE| 205-1 =1 3941 3,941 HM=XRIA
WM | s AxEl | %2 | == & & Falai

_14_



Moo S Rl Z g et T e 20234 3¢ 28 3l

i EX|ARHA| x| x= FFHA(md) PR () RCX|o =il
3B | skeS ARE 2% = 823 823 AR
3% | skES A 297 = 2,393 2,383 AA=R| XA
307 | S AKKE| 298 = 2,463 2463 M=K
38 | S AE| 29 = 2417 2417 AYM=X K|
39 | skeS ARE| 300 = 2,112 2,112 AR
400 | skeS MEE| 300-1 = 731 731 AM=XR|A
01 | 32 AR 300-2 = 1,954 1,954 MM=XR|A
12 | BeS AR 301 = 1,187 1,187 AM=X|R|A
403 | siES MEE| 30 = 3,934 3934 AR
04 | Bk ARE| 303 = 2423 2423 A=K
105 | B ARE| 304 = 3,084 3,084 MMN=X|K|A
406 | skES MEiE| 305 = 2,301 2,301 AUA=R|R]A
W7 | g AR 306 = 1,759 1,759 AM=XIR|A
408 | skeS AR 307 = 598 508 AA=R|R]A
409 | B=E A 308-1 = 322 322 AAR=X|X |0
M0 | keSS AEE| 308-2 A 251 251 AA=R|R]A
M| seg AR 308-3 = 5 %5 AR
412 | =g AR 310-2 =1 7 7 AAR=XX|A
M3 | 3RS AR 310-3 1 149 149 AM=X|R|A
M4 | RS MEE| 311 = 2,038 2,038 AM=X|R|A
415 | SRS MEiE| 311-2 A PA} PA} AA=R ||
46 | sk AR 311-4 A 16 16 AA=R|R]A
M7 | S MR 311-5 S 241 241 AA=R|R]A
418 | skeg AR 311-6 =t 15 15 MM=XR|
49 | S AR 311-7 51 % % AM=X|R|A
120 | skes MEE| 312 g2 6,990 6,990 AARER|R]A
21 | siES MEiE| 3121 A 1,160 1,160 AA=R|R]A
12 | g M| 313 = 2,100 2,100 AA=R|X|A
123 | 3eg AR 313-2 = 2,170 2,170 AAR=R|X|A
4 | skeg AE| 313-3 =t 990 90 AAR=XX|
15 | 3ES AR 313-4 = 1,409 1,409 AAR=XX|
06 | sk ARz 313-5 SN 980 980 AMN=X|R|A
27 | sk MR 313-6 = 1,930 1,930 AA=R|X]A
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20234 3% 282 3}22l Maty € e

oA EX|AAHR| XA X= SFHE(md) HUHAR () SBR[

18 | Bkeg A 313-7 =i 1,141 1,141 AAR=R|X|4
129 | skes Al 313-8 = 454 454 AA=R| XA
230 | s AE| 313-9 = 1,351 1,351 ABAM=R K|
B3| g M| 313-10 Yl 540 540 ABAM=R |03
32 | g A 313-11 = 1,242 1,242 AAR=X K|
433 | BEE A2 313-12 = 750 750 AAR=X RO
84| g | 313-13 YAl 350 350 AUM=R|R [0
43 | B=g AR 313-14 = %3 %3 AUAK=R x|
436 | g AR 313-15 = 301 301 AYAM=R K[
431 | g M| 313-16 = 9 9 AUAM=R|X |0
438 | skegE AEE| 313-17 = 29 49 AYAR=X|R |0
439 | g AR 313-18 = 83 88 AYAR=R R 04
4 | Eeg AR 313-19 = 17 17 AUM=R|R [0
M Skeg AEE| 313-20 = 10 10 AUA=R KO
42 | g MEE| 313-21 Et 1,730 1,730 AUAK=X|X |0
43 | g AR 314 el 5,310 5,310 AYAR=R |0
My EE AR 3141 51 346 346 AUM=R|X |0
5 | E=E e 314-2 =1 550 550 AAR=R R[4
M | kg A 314-3 = 1,070 1,070 AUAR=R K|
M7 | sles ARgE| 314-4 = 1,830 1,830 AM=X|R|A
M8 | skegE AiEE| 314-5 = 340 340 AYAR=X X0
49 | g AR 314-6 =) 1,670 1,670 AUAR=R ||
150 | Beg A 314-7 = 1,620 1,620 AUAK=X x|
451 | g AR 314-8 = 740 740 AAR=X|X|0F
5 | kg AR 314-9 = 880 880 MAR=X|x|0d
453 | g MR 315 = 615 615 AYAR=R [0
5| Sk AR 316-1 = 496 496 AAR=X|X| 03
455 | BEg AE| 316-3 S| 156 156 AAR=R|X|OF
456 | E=E e 317 =1 1,428 1,428 AYAR=R|K|d
467 | E=E A 318 = 903 903 AUAK=X X |0
458 | Seg MR 319 = 1,722 1,722 AAR=R R[4
459 | skegE AEE| 320 S 175 175 AYAR=X RO
460 | B ARE| 321 =i 1,200 1,200 AYAK=X x|
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Moo S Rl Z gLt & 20234 33 282 3t

o | SRR X[ xS SEHE(n) BRI SR HD
461 | skeg ARz 32 = 1,438 1,438 AAR=XX|
62 | sg MR 33 = 2,536 2,536 AA=R| XA
463 | g AR 3241 = 1,025 1,05 ABAM=R K|
64 | B AR 324-2 = 73 73 AA =KX
465 | siES MEE| 324-3 = 36 ¥ AA=RIR|A
466 | Sk AEE| 325-1 = 988 988 AUAR=X|R |0
467 | SRS MEE| 325-2 A 126 126 AA=R|X|A
168 | B AR 325-3 = 129 129 AAR=XX|A
469 | BES AR 3% | 1,008 1,008 AAR=XX|
40 | skeS pEiE| 326-1 | 7 7 AA=R|X|A
411 | skeS MEiE| 326-2 A 129 129 AA=R|R|A
2 | skeg ARz 3%-3 | 803 803 AAR=XX|
413 | skeg Az 326-4 7 155 155 MM=XK|A
414 | skeg ARE| 3%6-5 | 142 142 AA =KX
475 | skeg ARz 327-1 | 1,164 1,164 AMN=X|R|A
476 | Skeg M| 327-2 el 122 122 AA=R|R]A
a7 S AR 27-3 b 179 179 AYAR=X K|
478 | sz AXE| 328-1 o 869 YL=ARA
49 | skg AR 38-2 A % 46 CASNAE
80 | g AXE| 39 =1 560 550 YL=AIRIA
181 | Es AP 329-1 =1 310 310 AA=R ||
12 | siES MEE| 329-2 = 580 580 AUA=RR|A
183 | skeg Az 329-3 =i 1,610 1,610 AAR=XX|
84 | seg AR 329-4 = 340 340 AA=R|R|A
485 | B=g A 329-5 = 600 600 AUAK=R X |3
486 | siES MEE| 329-6 = 90 940 AMER|R|A
487 | 3eS AR 329-7 = 1,920 1,920 AAR=XX|
488 | skreS MEE| 329-8 = 870 870 AA=R|X|A
489 | S MR 329-9 = 860 860 AUA=RR|A
10 | RS AP 329-10 = 840 840 A=K
191 | skes MEE| 329-11 A 200 200 AM=R|R|A
MR | g A 330-1 5 40 40 AA=R|X|A
193 | ES AP 330-2 = 6,298 6,298 MA=XX|S




20234 38 282 522l Mete e e

i EX|ARHA| x| x= FFHA(md) PR () RCX|o

194 | siES MEiE| 331-2 = 186 186 AR
495 | skeS MEE| 330 | 349 349 AA=R| XA
196 | 32 AR 332-1 | 163 163 AAR=XX|
497 | skeg ARz 332-2 | 381 381 AA =KX
198 | Skeg MR 333-1 | 1,544 1,544 AR
19 | sg AR 3%-2 olot 512 512 AA=R| XA
500 | S-S ARz 3B-3 A 13 13 AUM=R|R [0
501 | 32 AR 334-1 b 181 181 AM=X|R|A
50 | skeg AlE 334-2 | 162 162 AAR=XX|
53 | SkS ARz 335-5 H 218 218 AUAM=R|X |0
54 | skeS AE 335-6 X 726 726 AM=XIR|A
506 | kS ARE| 335-7 X 529 529 MA=X|X|
56 | Skeg AE| 3% | 2,330 2,330 MM=XK|A
507 | skS AR 33%6-2 M 252 252 AM=X|R|A
508 | k= Ak 338 cH 498 498 AYAR=X K|
500 | EE AE| 338-1 H a2 a2 AYAR=R |0
510 | 38 Al 338-2 A 1,473 1,473 MM=X|K|A
511 | 33 A 338-3 | 24 24 HM=KIR|S
52 | 32 AR 339-7 A EK| 1,590 1,590 AM=X|R|A
513 | 3ke2 Ak 330-8 el 150 150 AM=X|R|A
514 | 3kg A 39-10 | H1EA| 36 3% AM=X|R|A
515 | 3leS Mg 330-11 51 2 2 AA=R|R]A
516 | skeg AXE 339-12 £=2 72 72 ABAR=R|R|A
517 | skeS axiE| 30-13 | 18X 257 257 AA=R|R|A
518 | 3kes AlRiE| 340 H 70 70 AA=R|R]A
519 | 32 A 340-1 = 505 505 AAR=XX|
50 | 3keS AiE| 340-2 = 679 679 AA=R|R]A
521 | skeg AR 340-3 =1 1,990 1,990 SA=RIR
52 | s AR 30-5 = 620 620 AA=X|R|
523 | skeg A 340-6 = 750 750 AAR=XX|
524 | skeS MEE| 340-7 = 2,930 2,930 AM=R|R|A
525 | skeS MEE| 340-9 = 715 715 AA=R|X|A
56 | Bk AKE| 340-10 =) 115 115 MA=XX|S
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Hetd & =

20234 33 28 st

odH EX|AAHR| XA X= FFHE(m) HUHAR () B=X|A linl
51 | E=g ke 340-11 =i 121 121 AUAK=R|R |04
58 | kg AkE| 340-12 = 318 318 =X
529 | BkE ARz 340-13 = 7 7 ABAM=R K|
50 | =g k| 341 51 59 59 AUAR=X|R |3
531 | skre Ak 3411 SIA 4 M AA=RIR|
52 | skeg AlXE| 31-2 = 370 370 AUAR=X|x|0d
53 | Skg ARz 341-3 = 273 273 AUM=R|R [0
534 | skeE AR -4 = 615 615 AYAR=X X |04
5% | Bkeg AkE| 341-5 = 640 640 AYAM=R K[
5%6 | SkeS ARz 341-6 cH 397 397 AUAR=X RO
537 | Skeg ARz -7 = 1,700 1,700 AUA=R X [0
58 | =S AEE| 341-8 = 1,500 1,500 AYAK=X x|
59 | Skg ARz 341-9 A 43 413 AUM=R|R [0
50 | SkeE ARz 341-10 = 237 237 ABAM=R |03
541 | Sig ARz 341-11 Et 45 45 AUAK=X|X |0
52 | skE AEE| 341-13 = 340 340 AYAR=R |0
53 | skeg AR 341-14 & 370 370 AUAR=X|x[0d
S4 | E=g e 342 Sk 9 9 XIoi=x|x|d
55 | g A2 3 S 938 938 KJot=K|x|d
56 | skeZ A2 344-2 ™ 500 500 AUAR=R K[
547 | Sieg ARz 345-3 5 130 130 AUAM=R|X [0
58 | EkE AR 345-4 G| 74 74 Xjof=x x|
50 | =g AR 345-5 = 72 72 AUAK=R|R|
500 | BkeS ARz 345-6 51 16 16 AAR=X|X|0F
551 slas AR 45-7 SIA 52 52 AM=X|R|A
52 | =g Al 347-4 | 70 70 AYAR=R R |04
563 | =g ke 367-2 5 3,366 3,366 KJot=K|x|d
554 | SieE ARE| 309 H 3461 3,461 AUM=R|R |0
565 | =S e 369-1 o 331 331 AUAK=X x|
56 | SkeS ARz 370-1 = 536 536 ABAM=R |0
57 | E=g ke 370-2 il 1,193 1,193 AYAR=R R |04
58 | 3keg Az 371 ol 106 106 AAR=X|X|0d
500 | EkS AE| 371-2 = 456 456 AUAR=R ||
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20234 3% 282 3}22l Maty € e

oA EX|AAHR| XA X= FFHE(m) HRAHAR(m) X[

560 | 3keS Az 371-3 ] 103 103 AAR=R K|
51 | k=g A 3n-4 ] 46 46 AAR=X|X|0d
562 | BkeS A2 371-5 =2 142 142 ABAM=R K|
563 | =g Az 311-6 =2 B R AUAK=R R[04
564 | SRS A2 -7 cH 2 2 AUA=R ||
565 | sk AEE| 371-8 = 60 60 AUAR=X|R |0
56 | Sk ARz 371-9 A e} et AUM=R|R [0
57 | g Az 371-10 =2 46 46 AUAK=R x|
568 | SkeZ ARE| 3721 cH 5 55 AYAM=R K[
560 | SkeS ARz 3r2-2 = 287 287 AUAM=R|X |0
510 | sk AiFE| 3r2-3 A 238 238 AUA=R X [0
511 | 3keg Az 312-4 = 76 76 AA=RIX|A
572 | skeg Ak 312-5 = 469 469 A=K
513 | 3keg AE| 372-6 == 51 51 AA=RIR|A
514 | 3keg AE| 312-7 == 199 199 =R
515 | SkeE AE 313 = 691 691 AUAK=X|R |0
516 | Skeg ARz 374-1 £= 384 384 AAR=X|X |03
57 | Bl=g AE 374-2 A 433 433 AAR=X|X|0F
518 | skeg AR 374-3 c=2 9 9 AA=X[X|A
519 | kg Az Ji4-4 | BuEX| 628 628 AA=RIK|A
580 | sk AEE| 375-1 A 13 13 AUAM=R|X [0
581 | =g 2l 375-2 == 3 3 AAR=R|K|d
582 | ES AR 375-4 =2 807 807 AUAK=X x|
58 | SkeS ARz 376 H 1,660 1,660 AUM=R|R [0
584 | =g k| 37 | 3150 3,150 AUAK=R X |3
586 | skeg AE| 378 cH 7,09 7,019 AYAR=R [0
586 | SkeS AE 378-1 =2 120 120 AUAR=R |0
587 | SkeE ARz 380-4 =2 9 %9 AUM=R|R |0
588 | =keS A2 382-1 = 5,010 5,010 AUAR=R ||
589 S AKE| 382-2 =2 312 312 AJAI=R| K|
50 | sk A2 383-1 =EX| 1,352 1,352 AUAR=X RO
501 | 3keg AkZ| 383-2 =2 3 3 =R
52 | kg Az 384-2 == 3 3 AUAR=R|K|0d
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Aoy, A ZJ E_l- Lk 20234 3 282 3t
olgl | EX|AKHA| x| xi= SF(wl) HRUH(nd) B=A H|D
58 | kg alxe 34-3 =2 3 3 YA=RIR]S
504 | S AKKE 385 = 182 182 A= K|
55 | sk AXE| 61 | FuSA 4,204 4,204 HU=XIRS
506 | sk A2 386-2 == 13 13 =R
57 | skeg AR 386-3 =2 10 10 YRR
508 | skeS AXE| 386-4 == 72 72 AA=X|X]
500 | ks ARE| 386-5 = 41 4 AA=X|X]
600 | skeS AkXE| 387 =1 684 634 YLA=AIRS
601 SRS ARKE| 388 = 1,025 1,025 M=K
602 | 3RS AXE 389-1 =i 1,994 1,994 A=XIR|
603 | Sk ARz 389-2 == 2 2 AUA=R X [0
604 | ES AR 389-3 =2 109 109 AYAK=X x|
605 | 3RS AlXE 390-1 cH 660 660 YA=XIR|
606 | E=E a2 390-2 == 3 R ABAM=R |03
607 | skeg Ak 390-3 o 1,171 1,171 YM=RIR|e
608 | Bk AXE| 391-1 =1 1,425 1,425 HU=XIR]A
600 | B AFE| 391-2 == 13 13 YA=X|RS
610 | Bk AR 3%2-1 = 1,530 1,530 HR=XR]S
611 | skeg AlXE| 392-2 == 7 7 YRR
612 | B3 AXE| 3%2-3 =2 13 13 HU=XRS
613 | ks AR 3%R-4 == 7 7 YA=XRS
614 | BReS A2 3%-5 cH 2,046 2,046 HA=XR]A
615 | 3k AR 3%0-6 = 1,530 1,530 HR=XR]S
616 | ks AXE| 3%-7 == 600 600 SA=X|R]S
617 | 3k A 3%3-1 = 1,008 1,003 YM=XR]S
618 | ks AXE| 393-2 =2 157 157 HU=XIRS
619 | k3 AXE| 3%-1 = K 341 HA=XR]S
60 | Bk AXE| 3%-2 == 100 100 YA=X|R]S
621 | 3keg Az 3%4-3 =2 1,152 1,152 YA=RIR|S
62 | 3k AXE| 397-1 = 5 5 HU=XIRS
623 | 3k AR 437-2 =2 7 7 HU=XRS
624 | Bk A2 437-3 == 43 83 Y=
65 | ks AR 437-9 == 566 586 HM=XR]S
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20234 33 282! sleel %_‘l E_I-L:—I'E Al oS ERILE
ot EX|AAHR| XA X= () HRIMHA(mr) 2EX| =i
626 | =S AEE 438-2 £=2 56 56 AYAM=X K|
627 | SkeE ARz 438-5 == 647 647 AARER | X |oF
628 | =g a2 912-2 = 1,607 1,607 AYAK=X X |0
629 | SkeS ARE| 912-3 H 27 27 ABAM=R |03
630 | SS AE| 915 =2 122 122 AUAR=R |0
631 | SkS Az 915-1 == ok} e} AUM=R|X [0
62 | S-S Az 917 A 537 537 AUM=R|R [0
633 | B AR 917-1 =2 44 44 AAR=R R[4
634 | SkZ AE| 917-2 A 134 134 AYAM=R K[
635 | skeE AEE| 918 = 3,141 3,141 AUAR=X RO
636 | SkeS AFE| 918-1 = 2,155 2,15 AUA=R X [0
637 | ES AR 918-2 = 506 506 AYAR=R R 04
638 | S Az 918-3 = 1,013 1,013 AUM=R|R [0
639 | slkeg AR 918-4 = 313 313 MAR=X|x|0d
640 | SkeS ARE| 918-5 =2 5,569 5,569 AUAK=X|X |0
641 | B AXE| 919 = 165 165 MAR=X|X|0d
642 | SkS ARz 921 = 1,120 1,120 AUM=R|X |0
643 | =S AR 921-1 = 1,629 1,629 AYAR=X R 04
644 | =g AR 21-2 =1 642 642 AUAR=R K|
645 | IS AR 921-3 = % % ABAI=X|R |0
646 | Sk ARz 9%1-4 === 4,333 4333 AUAM=R|X [0
67 | 3RS AR 922 = %0 %0 AUA=RR|A
648 | =S AR 922-1 = 2,020 2,020 AUAK=X x|
6499 | SkS A2 922-2 = 3,000 3,000 AUM=R|R [0
650 | =g Az 922-3 = 1,300 1,300 AUAK=R X |3
651 | SkeS AE 922-4 = 1,200 1,200 AYAR=R [0
652 | Sk AiRE| 922-5 =1 500 500 AAR=X|X| 03
653 | SkeE ARz 923 = 3,000 3,000 AUM=R|R |0
64 | =S AR P4 = 1,000 1,000 AUAK=X x|
65 | SkS AkE 9241 = 2,000 2,000 ABAM=R |0
656 | S AE| 925 = 3,000 3,000 AUAR=R K[
657 | SkeE ARz 925-2 = 3,000 3,000 AAR=R|X|OF
658 | =S AE 925-3 = 3,000 3,000 AUAR=R ||
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R Z gfLt & = 20234 32 282 31

EX|AAHR| XA X= FFHE(m) HRIMHA(mr) B=X|A =l
SErS AR 926 = 1,330 1,330 AUAK=R|R |04
kS ARz 926-1 = 1,670 1,670 AAR=X|X|d
Skeg AFE| 926-2 = 2,807 2,897 UNINES SpN [z
662 | Eg A2 926-3 = 387 387 AUAR=X|R |3
663 | SkS AE| 926-4 E=2 5,811 5,811 AUAR=R |0
664 | SkS ARE 97 7 869 869 AUM=R|X [0
665 | Sk ARz 927-1 == 343 3 AAR=RX|X|0F
666 | k=g AR 98 =2 658 658 AUAR=R K|
66 ol e = Sl 928-1 =) 172 172 AYAM=R K[
SIS ARz 929 7 520 520 AUAM=R|X |0
SiS A2 929-1 === 140 140 AUA=R X [0
keSS AR 2-2 = 278 278 AYAR=R R 04
SkeS Ak o2-3 ===} 4,417 4417 AUM=R|R [0
sg A 945-2 A 305 305 AUAR=R|R |
SIS ARz ¢5-3 = 704 704 AAR=X|X |0
kS A2 5-4 == 52 52 AYAR=R |0
kS ARz A6 = 976 976 AUM=R|X |0
Skeg A2 %71 elot 560 560 AYAR=X |03
Blg AR u7-3 7 K3 % Xjo4=x|x|od
kS A2 %47-9 =2 173 173 AUAR=R K[
SiS ARz 1004-3 7 10,723 5,242 AUAM=R|X [0
keSS A2 1004-8 =2 3415 1,812 AUAR=R ||
SErS A2 1004-9 71 464 464 AUAK=X x|
682 | SkS ARz 1012-2 TEX| 3,567 3,567 AUM=R|R [0
683 | =g Az 1012-22 5 75,554 1,662 AUAK=R X |3
684 | g AR 1012-24 = 1,126 1,126 ABAR=X|X|d
685 | BReg AK2| | 1012-26 = 150 150 MAR=X[X|0d
686 | Sk AFE| 1012-27 = 66 66 AUM=R|R |0
687 | 3keS AkZ| 1012-28 = 1,512 1,512 AUAK=X x|
688 | Sk AFE| 1012-29 = 1,637 1,637 AUAI=X|R |0
680 | SkS AKE| 1012-66 51 364 364 AUAE=R ||
60 | SE=S ARE| 1012-71 S 107 107 ABAR=R K]0
sles AlKiZ] | 1012-72 3 65 6 GU=RIRIA
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20234 38 282 522l Mete e e

oA EX|AAHR| XA X= FFHE(m) HRAHAR(m) X[

62 | =g AR 1012-73 Gl 206 205 HA=RIX]
693 | Skeg AxE| 1012-88 = 1,126 1,126 AAR=X|X|d
69 | S AEE| 1015 == 727 727 ABAM=R K|
6% | Sk ARE| 1016 £=2 136 136 ABAM=R |03
6% | SS AE 1017 =2 162 162 AUAR=R |0
697 Skeg AEE| 1018 E= 94 AM=XR|A
698 | S-S ARz 1020 == 3 K< AUM=R|R [0
69 | =g a2 1020-1 £=2 53 53 AUAR=X R |04
0 | g A 1033 c=2 104 104 RIA=X[X|
01 | 3g A 1035-2 == 1,145 1,145 =R
7?2 | skes AEEl | 1085-3 5 2 2 AL=KIR|
08| SRS AEEl | 10441 =] 1325 169 AM=R|X|
04 | BeS A 1069 = 84 84 AA=R| XA
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